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Aufgabe 4

a)
y = x − 4

0,5 − 4 = −3,5
1 − 4 = −3
2 − 4 = −2

3 − 4 = −1
4 − 4 = 0
5 − 4 = 1

Wertetabelle:

x 0,5 1 2 3 4 5

y −3,5 −3 −2 −1 0 1

Graph:
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b)
y = 2 · x + 3

2 · 0,5 + 3 = 4
2 · 1 + 3 = 5
2 · 2 + 3 = 7

2 · 3 + 3 = 9
2 · 4 + 3 = 11
2 · 5 + 3 = 13

Wertetabelle:

x 0,5 1 2 3 4 5

y 4 5 7 9 11 13

Graph:
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c)
y = x2

0,52 = 0,25

12 = 1

22 = 4

32 = 9

42 = 16

52 = 25

Wertetabelle:

x 0,5 1 2 3 4 5

y 0,25 1 4 9 16 25

Graph:
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d)

y =
24
x

= 24 : x

24 : 0,5 = 48
24 : 1 = 24
24 : 2 = 12

24 : 3 = 8
24 : 4 = 6
24 : 5 = 4,8

Wertetabelle:

x 0,5 1 2 3 4 5

y 48 24 12 8 6 4,8

Graph:
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Aufgabe 5

a)

0 = 0 · 0
1 = 1 · 1
4 = 2 · 2
9 = 3 · 3

Hier passt also die Zuordnungsvorschrift 2:

y = x · x

b)

−4 = −1 − 3
−3 = 0 − 3
−2 = 1 − 3
−1 = 2 − 3

Hier passt also die Zuordnungsvorschrift 2:

y = x − 3

c)

1 = 2 · 0 + 1
3 = 2 · 1 + 1
5 = 2 · 2 + 1
7 = 2 · 2 + 1

Hier passt also die Zuordnungsvorschrift 2:

y = 2 · x + 1
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d) Der y-Wert bleibt gleich, hier passt also die Zuordnungsvor-
schrift 3:

y = 3


